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Question 1 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

For each question, four options are given. One of them is the correct answer. (28 x 2 marks)

The process of photesynthasis is shown below.

cabongsids +  vomr —oE L o +T o

Identify energy P and substance Q.

Energy P [Q

light water

Energy P [Q

light oxygen

Energy P [Q

heat water

Energy P [Q

heat oxygen
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Question 2 Primary 6 Science » Primary 6 Science (Prelim)

Study the e cycles of the insects, M and M, as shown babow,

Life cycle of insect M Life cycle of insect N

Based on the diagrams above, which of the following statements is true?

A. Both life cycles have the larval stage.
Insect M has more stages in its life cycle than insect N.
C. Insect M and insect N can live on land and in water.

v’ D. The young of insect M looks like its adult but the young of insect N does not look like its

adult.
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Sarah placed one half of seaf ¥ in a sealad glass jar contalning substance X and
placed Ihe set-up in the sun for @ fow howrs.

She hen conducted a Tood test on leal Y and the mesult of her expperimeant is
shoam below,

o food is prasent . ~faod is presen

e

What b5 the purpose of substance X in lhe sxpefimeni?

A. To absorb oxygen
To produce nitrogen
C. To give out water vapour

v D. To absorb carbon dioxide

Question Type: Multiple Choice
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Question 4 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Madia macde the following observations aboul Organism £ over a period of firme.
The obgervations ara stated in the box below.

feeds on insecis

has webbad feat

Iy IS &505 in walor
breathes throwgh (ks mods! skin

Which of the following groups of animaks does Organism Z belong 107

A. fish
insect
C. reptile

v D. amphibian
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Question 5 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

There wara three tpes of fiowering plants, B, S and T, grown in fields near a
river 55 shown in Diagram 1.

wind

Ciagram 1

A few years |ater, more of each plant, R, § and T, were found growing in the
fiekds as shown in Déagram 2,

wind
direction

Disgram 2

Basad on the distribution of plants in Diagram 2, which of the following are |
the characieristics of the fruits, R. S and T7 e

A. |PlantR Plant S Plant T

fleshy and brightly coloured | fibrous husk | hook-like structures

B. |plantR Plant S Plant T

splits open when ripe | hook-like structures | wing-like structure

v C. |PlantR Plant S Plant T

splits open when ripe | fibrous husk | fleshy and brightly coloured

D. [plantR Plant S Plant T

fibrous husk | fleshy and brightly coloured | wing-like strucutre

Question Type: Muiltiple Choice
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Question 6

Primary 6 Science » Primary 6 Science (Prelim)

The diagram below shows the drections of bicod flow i some paris of the body.

bt

huryds ¢

samiall
iflezlines

The same amoun of booed samples was taken from A, B, G and D after a meal.
Which chart showe the correct companison of substances [n tha blood sampkes?

74" amount
of oxygen
A
= amount of
carbon dioxide
&

BN ELE LN N LR KN
=

R pEEEd FErEEaE

-
-
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amount of
digested food
&

blood
sample

> amount of
digested food
'y
blood
—
B sample
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The diagram shows a plant cell.

-
]
L]
-
"
=
-
=
&

Which of the following statements is correct about P?

A. P gives the cell its shape.
P makes food for the cell.
C. P does not allow light to pass through.

¥' D. P controls substances from entering and leaving the cell.

Question Type: Muiltiple Choice
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Question 8 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The diagram below shows how food passes through the digestive system of a

human body,

P gullet | 0 LR o B | anus
Whera does digestion take place?
A. Ronly

B. QandRonly
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C. Q,RandSonly

v ' D. P QandR only
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Question 9

The table below shows some physical characteristics of both father and mother

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

in & family,
" Parent Pointed Nose Long Hair Detached
Earlobe
Fathes §
i oihas o 4

Thesy hane fowr children with the following physical characterislics.

Child Pointed Mose Lang Hair Detached
Earlobe
Alain o 4
Bty |
Charles i o
Draran W i N

Based only on the information above, which of the following statements are

dafinibely trua?
A, Betty and Claren are twins.
£ Batty iInherited at least ome physical chamcteristics from her mother.
C Adan inheriind one physies] characteristics from hig father.
o Charles inherited af laast one physical characteristics from his

pasrenls,

A. AandDonly
B. BandC only
¥v' C. CandD only

D. B, CandD only

Question Type: Multiple Choice
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Question 10

The graph below shows the He cycle of insect X
mass of insect X (g)

-
-
-
rre—
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Primary 6 Science » Primary 6 Science (Prelim)

e

o

-

P2

PR —
£

=R —

 fwesk)

Based on the graph, how long does insect X take to develop ino an adult

after hatching?

A. two weeks
three weeks
v C. four weeks

D. five weeks

Question Type: Multiple Choice
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Question 11

Ted has the following set-ups.
&l 0"C

Primary 6 Science » Primary 6 Science (Prelim)

Waler vapour

Based on the experimant, in which wo set-ups would Ted most lkely find

mould an the strawberry afler a few days?

A. Aand Conly

B. AandD only
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C. BandConly

v' D. BandD only
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Question 12 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Ali took a 10-minute slow walk from his house to a nearby park and rested on a bench for 10 minutes
before he jogged home at a constant speed for 20 minutes. He then rested on his sofa.

Which of the following graphs best shows Ali's heart rate from the time he left home to the time he
rested at home?

A.
heart rate
{eatzimin)
5 Hrme (min)
heart rate &
{beats/min) ' ' '
! s
0 L ! . time (min)
v C.
heart rale ¢ F ? !
{beatsimin) : ' i
pb—: i = . fime (min)
heart rate 4
{beatz/min)
y time (min)
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Question 13
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Primary 6 Science » Primary 6 Science (Prelim)

Study the classification chart below.

Forms. of Enargy

]

Energy R |

1

Energy S ]
|

= bent plastic ruler
= book on a shelf
e bird_nesting in a tree

» moving second hand
of a clock

= running horse
» spinning dice.

=fsuit on a tres heaich

= rotating wheel of a car

Which of the objects have been incorectly classified?

A. Energy R Energy S
bent plastic ruler | spinning dice
v B Energy R Energy S
moving second hand of a clock | fruit on a tree branch
C. Energy R Energy S
bird nesting in a tree | rotating wheel of a car
D. Energy R Energy S
book on a shelf| running horse
Question Type: Muiltiple Choice
Randomize Answers: No
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Last Modified: N/A
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Ginimy used rubber balls of identical material but of different masses to cary oul
the: exparimant below, She dropped a 20 g rubber ball from & height of 5 m. The
ball then bounced ug 3 m after bitting the ground as shown below,

_ @ rubber ball

-

J-,-.---_-___-
i
=
fF

/ '\ gt

Which of the fellowing should Ginny choose # she wanis the ball to bounce
haghaer tham 3 m7?

Rubber Ball (g)

Height dropped from (m)

10

2

Rubber Ball (g)

Height dropped from (m)

10

5

Rubber Ball (g)

Height dropped from (m)

20

2

Rubber Ball (g)

Height dropped from (m)

50

10
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Johan was playing with his slingshot. He pulled the nicber band wih a crnashed
paper ball an far as ha could before he releasad the stretched rubber band aa
shivan belos. The crushed paper ball hit & marbls so the mains moved,

B = moavimg areshed paper ball
= _\"\,\_l G = paper hil makle
—

“ direction of marbke mosement
groal

Wich of the following comectly shows the enengy conversion from point A &2
poing %

A. potential energy ----> kinetic energy ----> potential energy
kinetic energy ----> potential energy ----> heat energy + sound energy
v C. potential energy ----> kinetic energy ----> kinetic energy + sound energy

D. potential energy ----> kinetic energy ----> potential energy + sound energy

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 4th Oct 2021

Last Modified: N/A
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Question 16 Primary 6 Science » Primary 6 Science (Prelim)

A toy car moved down a slope, past peint ¥ and moved up beyond point £ befors
corring 1o & sion, Afler which, the toy car slid back dowm,

mwing 1oy car

The amaount of Kinetic energy and potential enengy of the loy car at pointe Y and
£ are comparad. Which of the following is correct?

A. |Kinetic energy at Z compared to Y | Potential energy at Z compared to Y

less less

Kinetic energy at Z compared to Y | Potential energy at Z compared to Y

less more

C. |Kinetic energy at Z compared to Y | Potential energy at Z compared to Y
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D. |Kinetic energy at Z compared to Y

Potential energy at Z compared to Y

the same

less

Question Type:
Randomize Answers:
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Last Modified:

QID#:
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Mary has an inflatable swimeming

Primary 6 Science » Primary 6 Science (Prelim)

poal which can be foldsd wihen deflaled and

inflabed wilh airlo contain water as shown in diagrams below,

- - B

=3
The table balow shows the posalble propedies of the inflatable swimming pocl,

A tick () indicates the presenca of the property,

Which of the following are he properiies necessary to make the above inflatable
Ewirmmang pood?

Properties
Flexible Strong Waterproof
v v _ v

B [ !.l"'
¢ v v
D = v

Question Type: Multiple Choice

Randomize Answers: No
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Three bar magnets, AB, CDand EF; can be arranged as shown below,

A ' Blc

HE

F

Which of the following errangements of the magnaes is pogsibla?

Elp C
: =
F
[eETA
F|{B|D C
Alp c|F
B E
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The diagram below shows a child sliding down & slide. The graph next to the

diagram shows the amount of different fypes of snergy at Point A as the child
glides down the slide.

amound of
mﬂ:;;r {enita)

fypes of
STy

Mgy Enerngy  energy

After a sudden downpour, the side was welt but the child still continued to play.

Which graph comectly shows the change in the amount of different types of
energy at A as the child sfid down the wet slide?
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amount of
energy (units)
¥

ALRNYY---F=t--------
Ao
o
=
== = o
N =5 pem | typesof

kinetic potential heat ~ energy
energy energy energy

amount of

il ! e s -

; = types of
kinetic potential heat energy
energy energy energy

¢ amouni of
energy (uniis)
&

X @ types of
kinetic potential heat energy

energy energy energy
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amount of
energy (units)

A

P types of
kinetic potential heat energy
energy energy energy
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Question 20 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Chitra had 2 similar springs. YWhen @ 50 g mass was hung on one spring, she
noficed that it ecdended.

1B

=
EEEI—ED i
Before &fter

Which of the following will correctly show the extensions of the springs wihan
differant messes are hung on therm?

LTI
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,220,971
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Question 21 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Two groups of peopls were playing 'tug-of-war’ as shown below. Both leams
had 1o pull &t opposite ends of & rope. The winning team would be the ane that
rmanaged io pull the cenlre ribbon acrose a central lime towards themselves.

G60kg 40kp 50kg 80 kg 70 Ky

ground

: \\mm fines puddia of watar

Which of the folfowing explains why the game was not played fairy?

A The number of participants in each {eam was different.

B The friclional forcs between the shoas and the ground was different,

C Tha difference in the lotal maszs of each team affected the force
exartad on the ropes,

v"A. AandBonly
B. AandConly
C. BandConly
D. A,BandConly

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 4th Oct 2021

Last Modified: N/A

QID#: 29,220,975

Question 22 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Shaun fully filled two denlical containers with hot water. He then wrapped them
in identical wet towess, C and D, of different temperatiures as shown below,

Whach of the following cbservations did he make after 10 minutes?

A. | Heat gained by towels Heat flow from

D gained more heat than C |towel to hot water

v B. Heat gain by towels Heat flow from

C gained more heat than D | hot water to towel

https://www.classmarker.com/a//tests/test/?test_id=1827500 21/65
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C. |Heat gain by towels Heat flow from

C and D did not gain heat | hot water to towel

D. |Heat gain by towels Heat flow from

C and D gained the same amount of heat at any given time | towel to hot water

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 4th Oct 2021

Last Modified: N/A

QID#: 29,220,981

Question 23 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Sarah was walking slang & path from & 1o B wilh two sineet lamps, L1 ard L2,
posiioned at B and E raspectively.

Lt
Lepand,
== Shad e caused by L1
====: Shadow causad by L2
AEBE CDE

Which of the foliwing graphs shows the comest changes in Bhe length of har
alendonass B8 ahe walked fam A b E?

* length of shadow
&
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!enfth of shadow

T O
A B CDE

position

length of shadow
&

position

e 'Ien‘?th of shadow

Question Type: Multiple Choice
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Date Added:
Last Modified:
QID#:

Randomize Answers: No

Mon 4th Oct 2021
N/A
29,220,989

Question 24

connecked to the pins.
R & u
=@ eV
L
wenoden boand

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

The diagram betow shows a wooden board and a circult lester. There are five
miztal pins, B, &, T, U and WV, fixed onto the board. Thene are sorme hidden winss

N
A I

circuit besiar

The bulba would light up when some of the pans formed a diosed circuit with the
cacull tester. The results were recorded in the table below,

Pin connected to A | Pin connected to B | Did the bulb light up?
R 5 == [
R T Yes
I U o
u W Yea

Which of the following shows the cormect arrangement of the hiddan wires on
the wooden board? i

https://www.classmarker.com/a//tests/test/?test_id=1827500

2 pts
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 25

Multiple Choice
No

Mon 4th Oct 2021
N/A

29,220,997
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Primary 6 Science » Primary 6 Science (Prelim)

2 pts

25/65


https://www.classmarker.com/a/tests/qb/manage/?test_id=1827500&question_id=29220997
https://www.classmarker.com/a/tests/qb/manage/?test_id=1827500&question_id=29220997&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1827500

11/1/21, 8:14 AM ClassMarker - Manage Test

The diagram below shows the water cycle.

water vapour

Fm&h

water bodles

o u/j”' clowd \.
i

Based on the disgram above, which of the following atatements is comect?

A. Heatis lostin process P.
Heat is gained in process Q.
v' C. Process P does not take place at a fixed temperature.

D. There is a change in state in process P but not in process Q.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Mon 4th Oct 2021

Last Modified: N/A

QID#: 29,221,005

Question 26 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The table below shows the malting points and boiling pointz of twe
gubstancas & and B,

Substanca | Melting point (°C) Boiling point "C)

A B4 7B
B 212 440

Which of the following shows the correct state(s) of substances A and B at
100°CF

solid | liquid

v’ B. A B

liquid | solid

solid | solid

D. A B

liquid | gas

https://www.classmarker.com/a//tests/test/?test_id=1827500 26/65
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 27

Muiltiple Choice
No

Mon 4th Oct 2021
N/A

29,221,011

]

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

Fing magnets 5 and T, were slipped through & wooden pole as shovn badow In
diagram A d = lhe distance bewean magnets 5 and T,

wolen poke

| e

Cilagram A

Different masses of load were placed above magnet 5 and distance d was
measured as shown in diagram B.

T
Diagram B
The resulls wars reconded inthe table below,
Mass of load (g) Distanca o (cm)
0 16.0
10 123
21 T
£ [}

force.

in 50g.

Question Type:
Randomize Answers:

A. Magnet S is lighter than magnet T.

Multiple Choice
No

https://www.classmarker.com/a//tests/test/?test_id=1827500

Based on the results, which of the following statements is definitely frue?

B. Unlike poles of magnet S and T are facing each other.

v’ C. With increasing mass of load, greater gravitational force is acting against the magnetic

D. There is no magnetic force of repulsion between magnet S and T when the mass of load

2 pts
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Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,221,019

Question 28

Four shests of materials, J, K, L and M, are arranged in the two set-ups a8
shown below, One of the shests is coloured, A non-coloured patch of bright
light i 2een on ona of the shesls in set-up A but a colowred palch of dim

light is seen on one of the sheats in satup B,

Primary 6 Science » Primary 6 Science (Prelim)

tarch

= | 1 ||

|lmtﬁd manlﬂmummumm

sal-up A

- - L

0em |_1Dcmd 1-Ifl-|:m|.;mcmm

. b

sel-up B

The distance travelled by the fight for each set-up untit a patch of light is
segn is shown in the bar graph below,

distance 4
tl_rsmreﬂed by =
light unH.J B mn

]:_tain:h af light 1
ie seenicm) 10
B

. SEbUp

A

E

Which of tha following commectly deseribas matarials J, K, L and p?

A. | Allows most light to pass Does not allow light to pass Coloured
through through sheet
K M J
B. | Allows most light to pass Does not allow light to pass Coloured
through through sheet
L K M
ve Allows most light to pass Does not allow light to pass Coloured
through through sheet
J K L
D. | Allows most light to pass Does not allow light to pass Coloured
through through sheet
J L K

https://www.classmarker.com/a//tests/test/?test_id=1827500

2 pts
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Randomize A
Date Added:

QID#:

Question Type:
nswers:

Last Modified:

Question 29

Muiltiple Choice
No

Mon 4th Oct 2021
N/A

29,221,045

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

Xjao Ming set up an axperiment to find oul the conditions required for seeds
io gerrninate. The experimental condifions and results ane shown below:

Tray | soit [preaence of light Observations on Day 7
o B N - T -
B Wt na {é % Q
c dry yes D Il Y )
o | oy o o D O

v’ Water

¥" moisture

v dampness
v moist

v’ Wetness

v’ Wet condition

v Wet

Date Added:
Last Modified:
QID#:

take place.

take place.

https://www.classmarker.com/a//tests/test/?test_id=1827500

Question Type:

Accepted answers:

Free Text

Mon 4th Oct 2021

N/A

29,221,056

Question 30

Correctly answered feedback

Incorrectly answered feedback

From the above results, what condition(s) needed for germination can Xiao Ming conclude?

Water / moisture / dampness / moist / wetness / wet condition / wet is needed for germination to

Water / moisture / dampness / moist / wetness / wet condition / wet is needed for germination to

Primary 6 Science » Primary 6 Science (Prelim)

1 pt

0 pts
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Xiao Ming set up an axperiment to find oul the conditions required for seeds
io gerrninate. The experimental condifions and results ane shown below:

Tray Soil | Presence of lght Dbservations on Day 7

A wed yes cé Q o %
B wat ma @ %
SRS,
O O

s

0| %2

diry
(] diry il

Using the germinating seeds, Xiao Ming sel up the apparatus at room lemparature
as shown below, In the set-up, the drop of red ink praventsd air fram entering the
test tube.

drop of red Ink

Explain why the drop of red ink moved towards the lest fube after a few days,
(2]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,530

Correctly answered feedback

The germinating seeds take in / need oxygen / respire (giving out carbon dioxide which would be
absorbed by substance X) so the volume of air inside the test tube decreased / there would be less
air occupying the space in the test tube.

Incorrectly answered feedback

The germinating seeds take in / need oxygen / respire (giving out carbon dioxide which would be
absorbed by substance X) so the volume of air inside the test tube decreased / there would be less
air occupying the space in the test tube.

Question 31 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Ay condected an expaimant using two similar peds of plants, P and O, b find out
il the number of leaves alscls the amound of waler absosbed by tha roots. She
placed the potted plants In a garden and watered esch of them with 300 mil of weailer
al b slart of the expefiment

clear plastic bag clear plastic bag

Mk | o

PotF Pol @

Aller a lew days, Aoy Wlled pote P and O with both ber hands o compane hei
migsees, Heweawer, Amy's tescher dizagresd with Ary's mathod of messurement,

Explain how Amy should have measured the masses of the pots P and Q. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,569

Correctly answered feedback

She should use a weighing machine/ (weighing) scale.

Incorrectly answered feedback

She should use a weighing machine/ (weighing) scale.

Question 32 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Ay condected an expaimant using two similar peds of plants, P and O, b find out
il the number of leaves alscls the amound of waler absosbed by tha roots. She
placed the potted plants In a garden and watered esch of them with 300 mil of weailer
al b slart of the expefiment

clear plastic bag clear plastic bag

(7Y v

PotF Pol @

Aller a lew daye, Aoy Wlled pole Pand O with both ber hands o compan: (hei
migsees, Heweawer, Amy's tescher dizagresd with Ary's mathod of messurement,

Amy discovered many tiny iNgecis using thelr mouths o plerce mio he stem of a
plant in bar garden. They were feeding on the stem.

graurd

Alter & lew days, the rools of the plant died. Explain wivy, [1)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,580

Correctly answered feedback

The tiny insects fed on/ate/damaged the food-carrying tubes so no/insufficient food was transported
to the roots/the roots cannot receive food.

Incorrectly answered feedback

The tiny insects fed on/ate/damaged the food-carrying tubes so no/insufficient food was transported
to the roots/the roots cannot receive food.

Question 33 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Below are four flowers.

Choose the correct answer to indicate the flower(s) that is/are pollinated by animals.

v A.
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anther hanging
out of flower

B.
anther stigma
brightly-coloured
petal
nectar
v C

long filament

large anther

https://www.classmarker.com/a//tests/test/?test_id=1827500
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stigma

anther

Question Type: Multiple Response

Randomize Answers: No

Grade style: Full points if all answers are correct

Date Added: Mon 4th Oct 2021

Last Modified: N/A

QID#: 29,222,610

Question 34 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Birds A and B My from fower to flower,

Give a reason why birds A and B fly from flower to flower. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,625

Correctly answered feedback

To feed on the nectar/obtain food from the flowers.

Incorrectly answered feedback

To feed on the nectar/obtain food from the flowers.
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Question 35 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Birds A and B iy from flower to fower,

Which bird, A or B will most likely cause the flower to develop into a fruit? Explain how the bird helps in
the fruit development. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,639

Correctly answered feedback

Bird A/B picked up the pollen grains (from the anther) or Pollen grains were stuck/stick/cling
on/brushed on the feather/bird dropping off pollen grains onto a stigma.

Incorrectly answered feedback

Bird A/B picked up the pollen grains (from the anther) or Pollen grains were stuck/stick/cling
on/brushed on the feather/bird dropping off pollen grains onto a stigma.

Question 36 Primary 6 Science » Primary 6 Science (Prelim) Opts

Kaidn left bwo set-ups, X and Y, of similar potted plants placed in giass contaimers
wndes the sun for some tima.

bdack
paintad ey
g o | glass
: e —— Ao SiF
ar — 1

Set-up X Set-up Y
(ol with 30 ml of water) {50l with S0 mi of vealer)

Kaixin wants to use set-ups X and Y to test if plants need sunlight to make food. Describe the two
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changes that she must make to the set-ups in order for one of them to be the control set-up. (2 marks)

i) One change to set-up X:

ii) One change to set-up Y:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,655

Correctly answered feedback

i) Add 20ml of water to the soil.

i) Introduce air into the container.

Incorrectly answered feedback

i) Add 20ml of water to the soil.

ii) Introduce air into the container.

Question 37 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Kaidn loft bwo set-ups, X and Y, of similar potted plants placed in géass contaimers
wndes thi sun for some tima.

Pﬂ].l'.ltﬂ-d ] Cheny
s [ glass
; - —— N0 S

i ———

Set-up X Set-up Y
(ol with 30 ml of water) (5ol with S0 mi of vealer)

Then, Kaixin wanted Lo find cul how the imensity of Bght wouwld afact the rabe of
phalosynthesis of plants. She carkad out he following experimant.

[ 5000 wnits of
fight provided

F i i S
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She recorded the timea each plant ook to praduce 50 bubbles i the table

bealoiw.
Light intensity (units) Time taken for 50 bubbles to
be produced (s)
5000 a0
4000 45
3000 58 =

The time taken for 50 bubbles to be produced decreases as light intensity increases. Explain why. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,674

Correctly answered feedback

The rate of photosynthesis of the water plant increases / the water plant photosynthesises faster /
the water plant absorbs more light for photosynthesis / the water plant make more food (cause) so
more oxygen is produced / oxygen is produced faster. (effect)

Incorrectly answered feedback

The rate of photosynthesis of the water plant increases / the water plant photosynthesises faster /
the water plant absorbs more light for photosynthesis / the water plant make more food (cause) so
more oxygen is produced / oxygen is produced faster. (effect)

Question 38 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Kaban left bwo set-ups, X and ¥, of similar potted plants placed in giass contaimers
wncles the sun for some tima.

bdack

paintad —| i

s | nplass
#ir ——

Sesteup X Set-up Y
isoil wilthe 30 ml of wiber) {sodl with 50 mi of valer)

Thien, Ealxin wantad o find cul haw the imensity of Bghil wold affsct the rabe of
photosynthesis of plants. She camed ol the fsllowing experimant.

i 2000 wnits of
fight provided
2

She recorded the time each plant took to produce 50 bubbles In the table

bealoiw.
Light intensity (units) Time taken for 50 bubbles to
be produced (s)
5000 a0
4000 45
3000 58 ==

Kaixin conducted the experiment in a dark room. Give a reason why this helped to make the test a fair
one. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,696

Correctly answered feedback

This is to ensure that no other source of light would affect the results / the time taken for 50 bubbles
to be produced. (link incorrect variable to results)

OR

This is to ensure that the lamp is the only source of light that would affect the results / the time
taken for 50 bubbles to be produced. (link correct variable to results)

Incorrectly answered feedback
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This is to ensure that no other source of light would affect the results / the time taken for 50 bubbles
to be produced. (link incorrect variable to results)

OR

This is to ensure that the lamp is the only source of light that would affect the results / the time
taken for 50 bubbles to be produced. (link correct variable to results)

Kaban left bwo set-ups, X and ¥, of similar potted plants placed in giass contaimers
wnches thi sun for some tima.

black

paintad —| Chicty

s | glass
air —1—

Seteup X Set-up Y
isoil wilthe 30 ml of wiber) (5ol with 50 mi of valer)

Then, Kaixin wantad to find cul how the imensity of Bghl wedd affact the rabe of
photosynthesis of plants. She camed ol the fsllowing experimant.

am 50040 wnits of
lighk prowided

She recorded the time each plant took to produce 50 bubbles in the table

el
Light intansity (units) Time taken for 50 bubbles to
be produced (s)
5000 20
000 45
3000 58 |

Kaixin realised that the flshes b her squarium with waler plantt had been
ewimming to the surface of the water freguenlly,

water plants

https://www.classmarker.com/a//tests/test/?test_id=1827500
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Based on the results of her experiment above, what should she do to ensure that the fishes do not
need to swim to the surface of the water anymore? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,715

Correctly answered feedback
She should place a (lit) lamp near / above / beside the water plants in the aquarium.
Move the aquarium beside/near a window with sunlight.

Put the aquarium at a location with higher light intensity.

Incorrectly answered feedback

She should place a (lit) lamp near / above / beside the water plants in the aquarium.

Move the aquarium beside/near a window with sunlight.
Put the aquarium at a location with higher light intensity.

Question 40 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Meuntain K has a height of & 840 m,

Frecairttain B

=ea leval

Gragh 1 below shows how the peroentage of oxypen in the surrounding air
changes with the height above sea lewel

perceniage of cxygen in the swmounding air (56

T

Fiaighil above
e level (m)

geaph 1

Based on the results in graph 1, what is the relationship between the height above sea level and the
percentage of oxygen in the surrounding air? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,735

Correctly answered feedback

As the height above sea level increases (cause), the (percentage of) oxygen in the surrounding air
decreases (effect).

OR

As the height above sea level decreases (cause), the (percentage) of oxygen in the surrounding air
increases (effect).

Incorrectly answered feedback

As the height above sea level increases (cause), the (percentage of) oxygen in the surrounding air
decreases (effect).

OR
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As the height above sea level decreases (cause), the (percentage) of oxygen in the surrounding air
increases (effect).

Question 41 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Meuntain K has a height of & 8B40 m,

rretsairtain B

=03 leval

Graph 1 below shows how the percentage of oxygen in the surrounding gir
changes with the height above sea level

percentmge of coygen in the swrounding air (96)

T

height above

e fevel {m)

geaph 1

Mr Gopal atternpts fo cimb mountain K. Based an the results in graph 1,
which lime graph, X, or £, in graph 2 shown below, cormectly reprasants
the change in Mr Gopal's breathing rale a5 he climbe up mountain K7

Tiek the ¢arrest answar in one of the boxes providid,

breathing rate
¥
2
2
height above
graph 2 sea feved (m)
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v A, X
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C. Z

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 42
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Multiple Choice
No

Mon 4th Oct 2021
N/A

29,222,800
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Meuntain K has a height of & 840 m,

rrecainlain K

saa leval

Gragh 1 below shows how the peroentage of oxypen in the surrounding air
changes with the height above sea lewel

perceniage of cxygen in the swmounding air (56

T

height above

e level (m)

geaph 1

Mr Gopal attempts fo climb mountain K. Based an the mesults in graph 1,
which lime graph, X, Y or Z, in graph 2 shown below, correctly reprasants
the change in MrGopal's breathing rale as he climbs up mountain K7

Tick the carrect answar in one of the boxes provided,

breathing rate
®
Y
Fd
haight abowve
graph 2 gea feved (m)

Explain your choice in the previous question. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,804

Correctly answered feedback

Moving up the mountain, there is less oxygen (cause) so Mr Gopal will breathe faster / more times /
breathing rate increases to take in sufficient / same / enough / more oxygen (effect).

Incorrectly answered feedback

Moving up the mountain, there is less oxygen (cause) so Mr Gopal will breathe faster / more times /
breathing rate increases to take in sufficient / same / enough / more oxygen (effect).

Question 43 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Meuntain K has a height of & 840 m,

Frecairttain B

1 Emm W

=ea leval

Gragh 1 below shows how the peroentage of oxypen in the surrounding air
changes with the height above sea lewel

perceniage of cxygen in the swmounding air (56

T

Fiaighil above
graph 1 e level (m)

The table bélow shows Mr Gopal's hean rates al rest, when he is at diferent
heights abowve sea lawel

Location Heart rate {beats per rmin)
Top of the mountain K 80
Bottom of the mountain K 70

Explsin wihy Mr Gopals heart rate is faster when he is af the lop of the
mountain ¥ (11

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,811

Correctly answered feedback

Mr Gopal's heart pumps faster so that blood with oxygen moves faster to body parts / oxygen
reaches faster to the body parts / enough oxygen is sent to body parts.
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Incorrectly answered feedback

Mr Gopal's heart pumps faster so that blood with oxygen moves faster to body parts / oxygen
reaches faster to the body parts / enough oxygen is sent to body parts.

Question 44 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Michael was srncwbaarding an the op of a snow mountain, Mist was seen near
his neouth whensver he braathed oul as shown boliow,

Explain how the mist was formed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,822

Correctly answered feedback

The water vapour from his breath / mouth / him comes into contact with the cooler surrounding air
and condensed.

OR

The warmer water vapour from this breath comes into contact into the surrounding air lost heat to
form water droplets.

Incorrectly answered feedback

The water vapour from his breath / mouth / him comes into contact with the cooler surrounding air
and condensed.

OR

The warmer water vapour from this breath comes into contact into the surrounding air lost heat to
form water droplets.

Question 45 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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Michael was srncwbaarding an the op of a snow mountain, Mist was seen near
his neouth whensver he braathed oul as shown boliow,

Oty hiss way home, Wichael nobced that there was snow on his pants, Aker scme
time, the snew diseppeared and his pants was wet

). -

A,
oy o

Stade the process that explains why his pamls was wet when the snow on
his pants disappeared, [1]

Accepted answers:

v’ Melting

Question Type: Free Text

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,825

Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Question 46

Thiz diagram bedoww shvnws how the volume of a rock can be measured using a
displacement can,

displacemant can  —
wabtar level X L

fock

maasuring cyindar

Arrange the following experimental steps in order by 1, 2, 3 and 4 in the options below for the above
experiment.
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Clue Match

Measure the amount of water collected in 4
the measuring cylinder.

Points: +0.3 =0

Lower the rock slowly into the displacement 2
can.

Points: +0.3 =0

Pour water into the displacement can until 1
the water reaches level X.

Points: +0.2 =0

Allow the displaced water to flow into the 3
measuring cylinder.

Points: +0.2 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Mon 4th Oct 2021

Last Modified: N/A

QID#: 29,222,840
Question 47 Primary 6 Science » Primary 6 Science (Prelim)

The diagram bedow shonws how the wolume of a rock can be measured using a
dizplacemant can,

displacernent can

water level X

rack
maasuring cyindear

Afler flushing, water re-fills the water tank until the water reaches level Y. In
crdas fo consane watar, Ali put a tlock of brick into the water tank.

Explain how ARs action would help fo redete the amount of waber used o
flush the toiet bowl, [1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

https://www.classmarker.com/a//tests/test/?test_id=1827500
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,849

Correctly answered feedback

The brick takes up space (in the water tank) so less water is needed to refill the tank.
OR

The brick has fixed volume (in the water tank) so less water is needed to reach Y.

Incorrectly answered feedback

The brick takes up space (in the water tank) so less water is needed to refill the tank.
OR

The brick has fixed volume (in the water tank) so less water is needed to reach Y.

Question 48 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Two poles of ihe same halght, P and O, were placed on 1he stags for a shadow
performance. Déagram 1 below shows the top view of the stage, postions of he

bao poles and the audisnce.
light source
=
I/,__..__
® -
@ BCIBEN
.
audience
diagram 1

Which pole, P or Q will form a bigger shadow? Explain your answer. (1 mark)

Accepted answers:

v Pole Q
e

Question Type: Free Text

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,859

Correctly answered feedback
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Pole Q as it is nearer to the light source / further from the screen.

Incorrectly answered feedback

Pole Q as it is nearer to the light source / further from the screen.

Question 49 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Two poles of the same helghl, P and O, were placed on e stages for a shadow
performance. Déagram 1 below shows the lop view of the stage, posilions of the

bao poles and the audience.
light source
Gl e
-
@ SCTEan
M
audiance
diagram 1

Two dancare, X and Y, who werg of different heights, wera dancing on the stage
for a shadow perdformance, Disgram 2 below shows the top view of 1ha skage,
posilione of the two dancers and the audienca.

Eght sournca

-

tage
@ SCrEan
audience |
diagram 2

The diagrarm baln shows ihe shadows of the dencers seen on the screen.

Which dancer, X or ¥, is ieller? Explain your answes, [2]

Accepted answers:

vy
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v’ Dancer Y

Question Type: Free Text

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,872

Correctly answered feedback

Y is taller. Y is further from the light source / nearer the screen but the shadows are of the same
height / size.

Incorrectly answered feedback

Y is taller. Y is further from the light source / nearer the screen but the shadows are of the same
height / size.

Question 50 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The diagram showe Mr Tan rolling & bewling ball aleng the lans to knock down
SCIME piNs.

State the effect of forces on the pins when the bowling ball hits the pins at B. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,882

Correctly answered feedback

The pins/object moved/fell/dropped/toppled.

Incorrectly answered feedback

The pins/object moved/fell/dropped/toppled.

Question 51 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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Tha diagram shows Mr Tan rolling a bowling ball atlong the lane to knock down
SO NG,

Identify the force needed to help Mr Tan grip the bowling ball at A. (1 mark)

Accepted answers:
¥’ Friction

¥’ Frictional force

Question Type: Free Text

Date Added: Mon 4th Oct 2021

Last Modified: N/A

QID#: 29,222,890
Qu estion 52 Primary 6 Science » Primary 6 Science (Prelim)

The diagram shows Mr Tan rolling a bowling ball akong the lane to knock down
SO NS,

After some time, Mr Tan's hands became sweaty. He wiped his hands with a dry cloth to absorb the
sweat before he rolled the bowling ball forward.

Explain how the sweat affects his grip on the bowling ball. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,902

Correctly answered feedback

The sweat (is a lubricant which) reduces / decreases frictional force / friction between his hand and
the bowling ball (cause) so the grip is weakened / may drop the ball. (effect)

https://www.classmarker.com/a//tests/test/?test_id=1827500
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Incorrectly answered feedback

The sweat (is a lubricant which) reduces / decreases frictional force / friction between his hand and
the bowling ball (cause) so the grip is weakened / may drop the ball. (effect)

Question 53 Primary 6 Science » Primary 6 Science (Prelim) O pts

The diagrasn bédow thows bwo plates made of differend mademlis, A and B,
with 10 em? of water each, placed . the sun,

10 em? — . 10 cm®
of water e, e of wader

plate & made of material & plarte B made of matarial B

The resuilts ars sheown i lhe lable below,

Flabs Time taken for water to evaporate
completaly {min)
A pLd )
B 45

How can the above results for the experiment be made more reliable? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,909

Correctly answered feedback

Repeat the experiment several times / more times / take more readings.

Incorrectly answered feedback

Repeat the experiment several times / more times / take more readings.

Question 54 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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The diagram badow shows bwo plates made of differand malsils, 6 and B,
with 10 em? of waler cach, placed W the sun,

10 cm? e : 10 cm?
of water == s of water
plate & made of material A plate B made of matarial B

The resulls ars shewn i lhe table below,

Flabs Time taken for waler to evaporate
completaly {min)
A pLd )
45

The diagram below shows two containens made of matensts A and B.

N .

cantaimar A made of matarial & cofitaines B made of materkal B

Based on the results in the table above, wihich container, & of B, should be
used io keap food wasm for a longer ime? Explain your answer, ¥4

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 4th Oct 2021
Last Modified: N/A
QID#: 29,222,914

Correctly answered feedback

Food container B {clalm)

Material B takes a longer time for the water to evaporate
complately. (evidence from exparimeant)

Therefore malerial B is a poorer conductor of heat {property)y materal B
conducts heat slowar from the surrnundh'gs 1o the water (st on
referance to experirment)

and lood contziner B will fraim the wa lo the
surroundings slowei. (approach from container) | food will lose less heat
te the surroundings {appreach from food) and food will lose heat slower
to the suroundings (approach from food) - 3Application

Incorrectly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1827500
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Food containar B {chalm)

Material B takes a longer time for the water to evaporale

complately. (evidence from exparimeant)

Therefore malerial B is a poorer conductor of heat {propertyy material B
conducts heal slower from the suroundings 1o the water (st on
referance to expermant) i

and ioed container B will conduct heat away fram the warm foed fo the
surroundings slower. (appreach from container) | food will lose less heat
to the suroundings {approach from food) and food will lose heat slower
to the surroundings (approach from food) - 3Application

Suresh perfcemed an experimont on eprings B and O, of the sams banglh, g
thi sat-up shown babow.

He measured the compresaion of sach spring Tor differant masses.

His reazlls are shown i the tabis bojow,

—

wvg | Soiney |
5 L8 1.8 .
10 B.1 . - 4.0
15 LN 5.8
20 12.1 8.1

Diagram & below shows Suresh sitiing on a rocking horse using spring 0.

dissgram 2

Identify the force(s) acting on Suresh as he sat on the rocking horse.

https://www.classmarker.com/a//tests/test/?test_id=1827500
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Accepted answers:
v’ Gravitational force and frictional force
¥ frictional force and gravitational force
v gravitational force and elastic spring force
¥’ Frictional force and Elastic spring force
v elastic spring force and frictional force

v elastic spring force and gravitational force

Question Type: Free Text

Date Added: Mon 4th Oct 2021
Last Modified: Tue 5th Oct 2021
QID#: 29,222,935

Correctly answered feedback

Any two:
gravitational force, frictional force, elastic spring force

Incorrectly answered feedback

Any two:
gravitational force, frictional force, elastic spring force

Question 56 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Suresh parframead an eaperimont on cprings B and G, of thee same banglh, wsing
thie sat-up shon bebow.

diagrasr 1

He measured the compresaion of sach spring for diferant masses.
Hig resulls ame shown n the Bbis bolo,

| e | ey | et
5 &8 1.9 .
10 B.1 4.0
15 LR 5.8
20 12.1 B |

N

Dingram  telow shows Suresh sitling on & rocking horse using spring O

dissgram 2

After Suresh alighted from the rocking horse, spring Q returned to its original length as shown in the
diagram 2. Explain the change in length of spring Q in terms of forces. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,169

Correctly answered feedback

Less weight (of Suresh) / no weight acting on the spring.

Less / no gravitational force (of Suresh) acting on the spring.

Incorrectly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1827500
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Less weight (of Suresh) / no weight acting on the spring.

Less / no gravitational force (of Suresh) acting on the spring.

Qu estion 57 Primary 6 Science » Primary 6 Science (Prelim)

Suresh parframed an ssperiment on cprngs P and O, of the same banglh, L=TIG
the sat-up shown bebow.

He measured the compraselon of sach spring for differant masses.
Hig reaulls ame shown n the Bbis balo,

| Maoul oo P lom) | spengaiem)
] L8 1.9 .
10 E.1 o 4.0
15 aa 5.9
20 12.1 8.1

N

Dingram 2 below shiws Suresh sitiing on a rocking horse using spring 0.

dissgram 2

One day, a technician carelessly replaced spring Q with spring P in the rocking horse.

Based on the results in the table, would the height of spring P be more on less than k when Suresh sat
on the rocking horse again? Explain your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

https://www.classmarker.com/a//tests/test/?test_id=1827500

0 pts
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Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,201

Correctly answered feedback

The height of spring P would be less than K as spring P compresses more when the same mass is
hung on them / spring P is less stiff.

Incorrectly answered feedback

The height of spring P would be less than K as spring P compresses more when the same mass is
hung on them / spring P is less stiff.

Question 58 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

hei Li conducied an experiment a5 shown below.

s
siring
iron bar
iren nail
1 .'
]
RURTRT LTI
carcuit X

Describe what Mei Li would observe when she closed the switch in circuit X. Explain her observation.
(2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,227

Correctly answered feedback

The iron nail is attracted to the iron bar as iron is a magnetic material. When the switch is closed, a
closed circuit is formed/electricity flows through the circuit and the iron bar turned into an
electromagnet / is magnetised.

Incorrectly answered feedback

The iron nail is attracted to the iron bar as iron is a magnetic material. When the switch is closed, a
closed circuit is formed/electricity flows through the circuit and the iron bar turned into an
electromagnet / is magnetised.
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Question 59 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Mei Li conducied an experiment as shown below.

————

siring

iran bar
iren nail

| QI

carcuit X

Mei Ui added circull ¥ 1o the exparitnent using similar battaries, wires and
switches as shown below, The ron nail was suspended between the bwo samilar
iron bars A and B.

-string

iran

/ iron bar B
1 ‘*.;—7.;?
i I &-‘

circuit X circui Y
k=i Li obeansad that the iron nall was aliracted {0 iron bar B wihen bolk swibehes
in cincult X and % were closed.

Without changing the number of batteries or iron nail, suggest two ways Mei Li could do to the above
set-up so that the iron nail is attracted to iron bar A instead. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,247

Correctly answered feedback

Add more coils of wire around iron bar A / Open the switch in circuit Y / Shift circuit Y to the right /
Shift circuit X nearer to the nail. / Move the string of the nail closer to X

Incorrectly answered feedback

Add more coils of wire around iron bar A / Open the switch in circuit Y / Shift circuit Y to the right /
Shift circuit X nearer to the nail. / Move the string of the nail closer to X

https://www.classmarker.com/a//tests/test/?test_id=1827500 61/65
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Question 60 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

héei Li conducted an experiment a8 shown below.

S e
siring
iran har

iron nail

1 .'

]

g B
circuit X

Mei Li added circull ¥ 1o the exparitnent using similar battaries, wires and
switches as shown below, The ron nail was suspanded between the bwo samilar
iron bars A and B.

|_-string

iran nel

/ iron bar B
11 “..—7./}7
Fi I &-‘

circuit X circuit Y
k=i Li obearved that the iron nall was atiracted o iron bar B when bolh switches
in cincult X and % were closed.

Mei Li replaced the iron nail with a heavier iron nail. She observed that the nail did not move at all when
the switches are closed. Explain her observation in terms of forces. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,265

Correctly answered feedback

Magnetic force is not strong enough (to attract the iron nail.)

Incorrectly answered feedback
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Magnetic force is not strong enough (to attract the iron nail.)

Question 61 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
The dagram shoves & loy asplans,
propeler
direction of flighl

When the propedier i urmed bvendy imes, it bwizgts the rubber band conneched
ta It As the propefller is released, the nbber band unwinds, enabling the

airplane io fiy.

Fl In the: baoes fo show the anergy changes in the Loy airplane, [1]

w
3

energy BNergy anergy
(turning propeder) (twisted rubber band)  (moving airplane)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,279

Correctly answered feedback

kinetic energy ----> (elastic) potential energy ----> kinetic energy

Incorrectly answered feedback

kinetic energy ----> (elastic) potential energy ----> kinetic energy

Question 62 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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The deagram shoves @ loy aiplans,
propeler

direction of flighi

Whes the propeder i lumed bvendy imes, it twisis the mubber band connected
to [t As the propeler is released, the nubber band unwinds, enabling the

airplane to fiy.

Using the same toy airplane another experiment is conducted using two rubber bands. How would the
distance travelled by the airplane be affected when two rubber bands are used instead? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,291

Correctly answered feedback

The distance travelled by the airplane will be further/ longer / greater / more.

Incorrectly answered feedback

The distance travelled by the airplane will be further/ longer / greater / more.

Question 63 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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The deagram shoves @ loy aiplans,
propeler

direction of flighi

Whes the propeder i lumed bvendy imes, it twisis the mubber band connected
to [t As the propeler is released, the nubber band unwinds, enabling the
airplane fo fiy.

When carrying out the experiment for the previous question, what are two other variables that need to
be kept constant for the test to be fair? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 5th Oct 2021
Last Modified: N/A
QID#: 29,229,319

Correctly answered feedback

Any two of these:

How the toy airplane is released.

Height the toy airplane is released.

Speed of wind / Presence of wind
Number of times the propeller is turned
Direction of flight

Accept anything pertaining to rubber band

Incorrectly answered feedback

Any two of these:

How the toy airplane is released.

Height the toy airplane is released.

Speed of wind / Presence of wind
Number of times the propeller is turned
Direction of flight

Accept anything pertaining to rubber band
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